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1 e e R e e AR, 3 g e 7 1843 76 W 3 2R 7
(1) el 2) Toaragat
(3) s (4) wHEUE JyET

Which was the first Marathi play of modern times, presented by
“Vishnudas Bhave’ in 1843 ?

(1) Sharada (2) Sitaswayamvar
(3) Neeti Darshak (4) Madhavrao Peshwa
2. AW S A€l
a. W 919 i. IR e
b. @i & ii. HECHSSI SETRIE
c. wIRg FHAR €W iii. sfem frafee srfiaem
d. TmyET faee iv. Fhepidar s gootl
v. W dIe3T Tehul
a b c d
1 v il iii 1
(2) ii v i i1
3) v A 1 1
(4) iv 1 v i
Match the following.
a. Khudiram Bose i. Conspiracy of Kakori
b. Sachindranath Sen ii. Bomb blast in Legislature
¢. Barindrakumar Ghosh iii. Indian Republic Association
d. Ramprasad Bismal iv. Bomb attack on Kingsford

v. Manik Tola Case

1) v i 1ii i
(2 i v 1 i1l
3) 1iv v 11 1
4 iv i v i

3. “wfiq TIERT A1 TR SHidTatie SHIOTE S0 T dE Hi0 AR ?

(1) ™I AR (2) STCH
(3) fed fe waws (4) dfea fas TRt
Who is the writer of ‘Sangeet Ratnakar’ the standard book on Indian Music ?
(1) Gopal Nayak (2) Sharangdev
(3) Pandit Vishnu Bhatkhande (4) Pandit Vishnu Paluskar
FHoedl HHMEIS R / SPACE FOR ROUGH WORK P.T.O.
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4. T T S R T e S g R 2

(1) e (2) i 3) foreed (4) @mew

In which region ‘Kath and Goph’ types of dance are famous ?

(1) Gondawan (2) Konkan (3) Vidarbh (4) Khandesh
5. ‘$feam diganifess ey -1888° 1 Wuedsn Tay @refeiteh! v sradsht 3a) 7

(1) @t feEere (2) @t gaMe gt

(3) W HHT g WH (4) wEE FHET

Which of the following person is related to the organization of ‘Indian Patriotic
Association — 1888’ ?

(1) Swami Vivekanand (2) Swami Dayanand Saraswati
(3) Sir Sayyad Ahemad Khan (4) Mohommad Igbal
6. TS TeEAT ST SR HIVeT HEIHTS IR Fift g2 67 @remn e 7

a. 9T

b. TR

c. st

d. 3wen
(1) a9d (2) bdc (3) W c (4 wwd

The British Governor General Dalhousie abolished which States on the pretext
of Mal administration ?

a. Satara

b. Nagpur

c. Zashi

d. Ayodhya
(1) aandd (2) bandc (3) onlyc (4) onlyd

7. WUTESH MO AT ThE e sl
(1) E=g 84 - gow HHTER
(2) =RHAY feremp - ez
(3) Hlgm seff - set
(4) TEE TR - 3fEm firg
Identify the wrong pair of Editor and Newspaper.
(1) Keshavchandra Sen — Sulabh Samachar
(2) Dwarakanath Vidyabhushan — Bangdarshan

(3) Surendranath Banarjee — Bangali
(4) Devendranath Tagore — Indian Mirror

oAl TS AR / SPACE FOR ROUGH WORK
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8. ST @M.
9. CIEHERS Bldh i, S et
b. SIS Y i, S e
c. WTeTSlt Y@TEhT iii. o ghweg feage
d. TR ETERt iv. ®e1 frarsh

a b c d

(1) i ii iv i

(2) iii ii i iv

(3) 1iii i il iv

(4) iv i 1ii i

Match the pairs.
a. Dadasaheb Falke i. Bajirao Mastani
b. Baburao Penter ii. Sairandhri Movie
c. Bhalji Pendharkar iii. Raja Harishchandra Movie
d. Prabhakar Pendharkar iv. Bal Shivaji

a b c d

(1) 1 ii iv i

(2) in il i iv

3) 1 i i1 v

(4) 1iv i 1il i1

9. 1890 @relt WRATSAT 3enfes fremETen S vaEd sfefies aRwesh wemeEr ol

HeAl ?
(1) 7T HT TE (2) greMTs sh
(3) WYEg <d (4) =1 .M. TR

Who established the ‘Industrial Conference’ in 1890 to promote the Industrial
development of India ?

(1) Gopal Krishna Gokhale (2) Dadabhai Nauroji
(3) Rameshchandra Dutta (4) Just. M. G. Ranade
THEAT HINTATS! RN / SPACE FOR ROUGH WORK P.T.O.
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(1) wreft g
Bl e R e
(2) el g

(3
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— FAIRIITEY, AHEUE, HEd, Hefiad, St
— STTeeh, fasritmret, e, dafim, s
— STTeeh, fersrfimret, wsfiem, shedl, dear=

SITFEUIR. gl — ATHITEL, AHETE, dafie, S, Tt
siTeroft e — FIRITEL, AIBEUE, B, AHH, TTHRT
STEUIRR gaual — TTeeh, fersrefiraT, wsfte, dafim, smfy

— 1T, TR, Fafled, Hadl, THHRo
— fersrftrat, e, afie, e, smfa

Identify the following correct option group of Brahmin and Non-Brahmin

Newspapers.

(1)

(2)

3

“

Brahmin Newspapers

Non-Brahmin Newspapers

Brahmin Newspapers

Non-Brahmin Newspapers

Brahmin Newspapers

Non-Brahmin Newspapers

Brahmin Newspapers

Non-Brahmin Newspapers

Lokshahi, Loksangrah, Kesari, Sanjivan,
Jagruti

Jagruk, Vijayi Maratha, Lokmanya, Dinmitra,
Rajkaran

Jagruk, Vijayi Maratha, Sanjivan, Kesari,
Lokmanya

Lokshahi, Loksangrah, Dinmitra, Jagruti,
Rajkaran

Lokshahi, Loksangrah, Kesari , Lokmanya,
Rajkaran

Jagruk, Vijayi Maratha, Sanjivan, Dinmitra,
Jagruti

Jagruk, Lokshahi, Sanjivan, Kesari, Rajkaran
Vijayi Maratha, Loksangrah, Dinmitra,

Lokmanya, Jagruti

THeAT HIHTHIS! ST / SPACE FOR ROUGH WORK
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11.. me.mmmwmwmwm?

a. fa. T (L3}

b. F. T. TR

c. ﬁ?@:{ ﬁﬂﬂ\

d. IgudTE 9ed
(1) asnbwad () barcwR (3 a, b cHR (4) a, b, c 371 d
Who from the following lawyers gave up lucrative practices as a part of
non-cooperation Movement ?

a. C.R.Das

b. M.R. Jayakar

¢. Saifuddin Kitchlew

d. Vallabhbhai Patel
(1) aandbonly (2) bandconly (3) a,bandconly (4) a,b,candd

12. TEIA A9 9 T HUIGeH oAl SSe e

a. a3 avd [. Ta.u. Ef

b. TEl II. . . Bdce

c. oW Ha® 1. T . Hiegedt
d. &S V. Teuw #eed T

a b c d
1) I IT nmr 1
@2 1 111 IT s kV
3) II I v 1III
(4 II I I 1v

Match the following papers and their editors.

a. Mumbai Vaibhav I. L.N. Joshi

b. Gurakhi II. K. P. Mehendale

c. Desh Sevak I1I. A. B. Kolhatkar

d. Kal IV. Shivram Mahadeo Paranjpe

a b c d
(1) 1 II I Iv
@) 1 IT1 | Y
3) 1II I IV 1III
(49 1II I Im 1v

ool HIHEGI SN / SPACE FOR ROUGH WORK P.T.O.
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‘A §9 A6 IHeg ded’ & HI THRia Ft 7
(1) |um 95 917

(2) SETEET A5E

(8) hTehT AT

(4) TR TZATTS v

Who published ‘A Bunch of Old Letters’ ?
(1) Subhashchandra Bose

(2) Jawaharlal Nehru

(3) Kaka Kalelkar

(4) Sardar Vallabhbhai Patel

14.

qerel A Hivmees forgielt a7
a. S S TR HiE= g aisvEE @ 1905 7E) FRisen e 2.

b. it fsrdter S e ara steaesTe aTea e Ty 45 @i 3T
Fet 2.

c. I HEH TEUITEAT SHREAT Hig=a AT sreaaverardl sm=ia A e 8.

(1) <A feas (2) g9y 9g 919

(3) TS FHWT et (4) =Y. . mef

The following sentences are written about whom ?

a. He went to England in 1905 to present the Congress case before the English
people.

b. The British Committee of Congress arranged 45 meetings for him to address

during his stay of seven weeks.

c. This Grand Young Man was called upon to preside over the Banaras Session of

Congress.
(1) Lokmanya Tilak ' (2) Subhashchandra Bose
(3) Gopal Krishna Gokhale (4) M. K. Gandhi

FHeedl HIMTMTE! SR / SPACE FOR ROUGH WORK

A
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15. SirEen Jesdl.
a. S AUl AifE €9 [ hyEtE W
b. et wnfeea wa II. AR TS TR
c. T ek I11. 379d TR HIeAs
d. wefiasmangs IV. M S

a b c d
(1) I 1Iv IT I
@ I II I 1v
3 IV III II |
(4 III I v 1

Match the following.
a. Mumbai Marathi Sahitya Sangh I. Keshavrao Bhosle
b. Vidharbha Sahitya Sangh II. Motiram Gajanan Rangnekar
c. Natya Niketan III. Amrit Narayan Bhalerao
d. Lalitkaladarsh IV. Nana Joag

a b c d
(1) III IV II I
2 I II I Iv
3 IV III II I
(4) III I Iv 1II

16. Wrefereh! St GHRONCT T 3T HICT U ATE Fgiea1 hrihiem Hed ?
a. Vaehl/HfN wene FER T
b. TEHH HEAT FHEG TR

c. b HEQ TG

d. gt gewen Hrer R

(1) e a 3T b TR (2) ®H b, ¢ M d T
(3) Wad a T d ST (4) o Td SO

Which of the following reforms that contributed to agrarian took place during
the tenure of Lord Curzon ?

a. Establishment of Agriculture Research Institution

b. Passed the Co-operative Societies Act

c. Passed the Tenant Act

d. Passed the Land Reform Act

(1) Only a and b is correct (2) Only b, ¢ and d is correct
(3) Only a and d is correct (4) All of the above is correct
THESHAT HIMTATS SR / SPACE FOR ROUGH WORK P.T.O.
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" e A e w el S e a7

a. B3 A% HAH A yfge W 92 2.

b. i deT Wt T wie srerag qui.

c. 1910 #ed == Ffia FRCHESM Hed e fyae el

d. ST EIRHUIH= T =T e .

(1) e b 37707 ¢ ST 318 (2) ed a 3T ¢ SO 3118
(3) Wad a, b 3mfor d sWsR 318 (4) e 9d qa SO 3TRd

Which of the following statements about Dadabhai Nouroji is / are correct ?
a. He was the first Indian Member of House of Commons.
b. He has served as President of the Indian National Congress three times.
c. He was selected the member of Central Legislature in 1910.
d. He was involved in the formation of Bombay Association.

(1) Only b and ¢ are correct (2) Only a and ¢ are correct

(3) Only a, b and d are correct (4) All of the above are correct

18. eeeif=A folrer o amea wiefierdsh! v/t R/ 3 st smea 2

a. A, TG FreETe sl T e Heren @ B o faue .
b. M feahiaT “Idia SEANE S Hee .

c. ﬁmﬁaﬁﬂm@ﬁ

d. eI feeshian emeren smiTETe qeTaTaT fran e,

(1) @™ a, b 3T ¢ ssK 3R (2) ad T b SO 3T
(3) e TATT d UL 3R (4) AT a I ¢ a0 IR

Which of the following statements about Velentines Chirol is/are correct ?
a. He stated that Gokhale was with the time, while Tilak was ahead of time.
b. He called Tilak the ‘Father of Unrest in India’.
c. He was a liberal bureaucrat.
d. He sentenced Tilak to imprisonment for sedition.
(1) Option a, b and ¢ are correct (2) Only option b is correct

(3) Only option d is correct (4) Option a and ¢ are correct

THEeAT HHTETE! ARM / SPACE FOR ROUGH WORK

A
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19. a. ufEet 9T : TEE SRR, HITSTER & serHl TG S

b. GER T : TR ST T HRAR TS GRIGETE 367 918 SArTe.
et v faam/faum st IR /q 2

(1) b (2) a®ad (3) aTdhY ATEl (4) adb

a. First Sentence : After the battle of Plassey, Mirzafar became the Nawab of
Bengal.

b. Second Sentence : Mirzafar started his administration from the capital
Murshidabad.

Which of the above statement/s is/are correct ?

(1) bonly (2) aonly (3) none of these (4) aandb

20. éﬁnﬁaaﬁ%&a‘wﬁa’mmﬂamaﬁwmﬁ@m?
(1) A=A §SrET (2) A SSET
(3) GUTSTS qEMHI (4) HAITET S

Which rebel in Bengal is mentioned in the novel ‘Anandmath’ written by
Bankimchandra Chatarjee ?

(1) Revolt of Chuara’s (2) Revolt of Kolama’s
(3) Revolt of Santhala’s (4) Revolt of Sanyashi’s
91, YU S T 1 Fe5T ST TR Sl S 2R HeaE T foeht Sheft
Bl ?
(1) =T frtere (2) hetehdl ST
(3) & = e (4) WA TR GBI

Which journal had criticised the general policy of Warren Hastings, the Governor
General of Bengal at that time ?

(1) Bengal Kirkaru (2) Calcutta Journal
(3) The Bengal Gazette (4) Amrit Bazar Patrika

92. & SET HUiah Fed BIHIH HIVTEAT HIB WA A 7
(1) IFH (2) SEFR (3) VIESEH (@) T
During whose reign did Captain Hawkins come to India, on behalf of the East
India Company ?
(1) Akbar (2) Jahangir (3) Shahajahan (4) Aurangzeb

FHoeHT HETER SN / SPACE FOR ROUGH WORK P.T.O.
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23.

12
(1) =R A 2) afig g
(3) gda (4) vt

Who took the initiative in the establishment of ‘Hindustan Socialist Republican

Association’ ?

(1) Chandrashekar Azad (2) Sachindranath Sanyal
(3) Suryasen (4) Bhagat Singh
24. WEUSTAS ITeie Toad) faweft afecd 1 yareH ferfeeft R,
(1) =uAeET (2) efadt (3) arcaE (4) wERH

, the traveller has written information about Chalukya rule in
Maharashtra.

(1) Huen Tsang (2) Ptolemy (3) Al-Biruni (4) Fa-Hien
25. TeH 9 T AGh AT SIS Jeal.

a. qEeHt I. %

b. 3feu I1. fomeffent

c. HYHISIA 1. 3. @Y. wgreH

d. TS Rrash IV. S1& U9Eg 99

a b c d
1 I IT Im  1v
2 Iv 11 111 I
3) 1II I IV III
(4 III IV I II

Match the following plays and their authors.

a. Daivaseni I. Kunte

b. Indira II. Kirtikar

c¢. Kusumanjali III. V.M. Mahajani

d. Raja Shivaji IV. Bajaba Ramchandra Pradhan

a b c d
1) I II I Iv
2 IV 1II III I
3) II I IV 1III
(49 III IV I II

el HIHHETS SR / SPACE FOR ROUGH WORK

A



"%

26.- A M UUT=AT I SS AEl.

a. Ties TrEw 3@
b. e AWM
c. SIgUS SIS
d. VR SeuiyE

a b c d

(1) iv il iii i
(2) 1 v 1 il
(3) iii v i i
(4) iii v il i

13

K18

i. foe

i, I
iii, RISl
iv. afee
v, q@w

Match the following pairs of Author and Books.

a. Trimbak Narayan Atre
b. Keshav Meshram

c. Baburao Bagul

d. Bhaskar Chandanshiv

a b c d

1) iv i i i
@ ii v i ii
(3) i iv il i
@ ii v il i

1.
1.
iii.

iv.

Birad
Aghori
Gavagada
Audit
Pokharan

FHoedT HETEG! 9N / SPACE FOR ROUGH WORK

P.T.O.
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27.- ShICTehIl S HM A4 o Tferq T8t Frea e e,

a. ARTR I. TEERES @vs
b. =T II. JEERs @HEs
c. STE 1. sfier W
d. SemE IV. TR gomie
a b c d

(1) 1 IT Ir 1Iv

(2) IV 1III 11 I

3 III 1II I v

(4 III 1II v I

Match the pairs of leader of revolutionary work and concerned city.
a. Nagpur I. Dadasaheb Khaparde
b. Yawatmal II. Abasaheb Khankhoje
¢. Amrawati ITI. Shridhar Paranjape
d. Belgaon IV. Gangadhar Deshpande

a b c d

(1) 1 II I 1v

@2 IV 1III II I

(3) III 1II I v

(4 III 1II v I

28. w@refiel faum e,
a. 31 SIS, 1920 Tsft T Frelean ‘3iiet $Re 32 qfra S wrel dwva 7 2
gfect 3Teet 2.

b. 1927 wa ‘sifa e ¥ Ifmm w57 smmr guen e e,

(1) a? st 3R (2) a 3T b2 s A

(3) b7 U M (4) a 31for b 7 SO AT

Observe the following sentences.

a. Lala Lajpat Rai was the first President of ‘All India Trade Union Congress’
established on 31 October, 1920.

b. 57 Labour organizations were attached to ‘All India Trade Union Congress’
until 1927.

(1) aistrue
(3) bis true

(2) both a and b are true
(4) both a and b are not true

HoeAl HHMEE AN / SPACE FOR ROUGH WORK

A
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29.- wreAterteh! v faum 9% e /d ?
a. TICTFT SIS eI 3TTEE A1 I 1912 7Y “37e] - feeter’ & 3¢ ATaiieeh Jehifrd ohe.
b. irgng 3t fT A 1911 wed g e’ B $sht arwnfess e e
c. T 1912 TE T ifer@™ I SfiFer’ a1 arcatas Sfeia w9 el
(1) %&d a
(2) % b
(3) b 3T ¢ H
(4) a 3 ¢ I
Which of the following statement is /are wrong ?

a. Maulana Abul Kalam Azad published ‘Al - Hilal’ a weekly Urdu Newspaper
in June, 1912.

b. ‘The Comrade’ a weekly English Newspaper published by Mohammad Ali
Jinnah in 1911.

c. In the year, 1912 Jafar Alikhan had converted his weekly ‘Zamindar’ into a daily.
(1) only a is wrong

(2) only b is wrong

(3) b and c are wrong

(4) a and c are wrong

30. Gy =Tt ST A HErEd B g ewe i fég form s et

(1) TTorST | (2) fammaes et
(3) STEFT FTHH (4) wfe sy
Damodar Chaphekar and _____ started the ‘Society for the Protection of
Hindu Legion’.
(1) Ganesh Savarkar (2) Vinayak Savarkar
(3) Balkrishna Chaphekar (4) Dravid Brothers
THeedl HWTETS! AR / SPACE FOR ROUGH WORK P.T.O.
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31.
(1) 1950 |Ieil AT FTetedT “IRFe AT JFmE STt Fo@’ o 318987 By
(2) ‘haS FATEY SHICRRY 918 9 3768 B
(3) ‘1938 wifiet ferei-wen wid SRR URwY F A Sreee sl
(4) 1955 IS TATHH T WA HYH qU o o 98 B
Which of the following statements about the work of Dr. Panjabrao Deshmukh is
incorrect ?
(1) He was the President of ‘Akhil Bharatiya Magas Jati Sangh’ which was
established in 1950
(2) He was the President of ‘Backward Classes Scholarship Board’
(3) He held the Post of President of ‘Vidarbh-Madhya Prant non-brahmin
Conference in 1938’
(4) He was the President of ‘Bharat Krushak Samaj’ established in 1955
32. WIBITE JHHU ded @iefiel e am=n 9 awg s fHaer,
a. Ufeweed wgifdenerdie @ afgel wrd gerees e 8.
b. “Frferer sft wwEmE W wifece i dEd F.
T, AE e A IR i Ut hEmed il e TSR R s
Iooi@ el
d. 1840 wed q T faatifesrer AR 6 de’ 3 gew wuE Fasa 9.
(1) ﬁﬂﬁa,bmcmwdﬂﬁ%ﬂ%
(2) faum b 3T d SRR 3T a 30 ¢ FhE R
(3) Taam b anfer ¢ ST 3 a 30T d R IR
(4) ot g9 foam sU=R 3R
Read the following statements about Balashastri Jambhekar and choose correct option.
a. He was the first Indian Asst. Professor in Elphinstone College.
b. He wrote book such as ‘Nitikatha’ and ‘Sarsangrah’.

C.

d.
1
@)
3)
(4)

Justice Narayan Chandavarkar in one article in ‘Induprakash’ mentioned
him as a ‘Rajkiy Rhushi’.

He was selected member of the ‘Royal Geographical Society of London’ in 1840.
Statement a, b and ¢ are correct while d is incorrect

Statement b and d are correct while a and ¢ are incorrect

Statement b and ¢ are correct while a and d are incorrect

All statements of above are correct

FHeeH HHTEEGT ART / SPACE FOR ROUGH WORK

A
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33, Gy AN ST 3.8, 1917 HS QbR A1 At «faveen TERs” & o

Hoft SeRIfTa her g ?
(1) T 9 9IagR (2) TESEUE et
W::Afg (3) fage S arevERt (4) hA. ArEEieE
Who published an Article “Tibhanglela Maharashtra” in Lokshikshan (monthly
publication) in 1917 about the Samyukta Maharashtra Movement ?
(1) Datto Waman Potdar (2) Dhananjayrao Gadgil
(3) Vitthal Waman Tamhankar (4) G.T.Madkholkar
34. VR ST HIAE HSHTd TUH T HIVICAT HRIAH QuaTd HTell ?
(1) WRd uitwg %rer, 1861 (2) WRAY uftyg HrIer, 1892
(3) W uftsg wrEr, 1909 (4) YA SR H1FEl, 1919
Which Act introduced for the first time Indian people in the Legislative Council ?
(1) The Indian Councils Act, 1861 (2) The Indian Councils Act, 1892
(3) The Indian Councils Act, 1909 (4) Government of India Act, 1919
35. Yeidt arR _ el a1mRa.
a. dl $gl yHAST GHAAH Bl
b. @ AT i Bl
c. dt gefiergET TWEE Bl
d. seiEEs q9HE BT BUE JAieEd .
(1) weEd TH (2) S
(3) wEEAE (4) fom
The following sentences are about
a. He was a Muslim fanatic.
b. He was a lawyer from Latur.
c. He was a member of Ittihadu.
d. The members of Ittihadu were known as Razakars.
(1) Mahabat Khan (2) Kasim Razavi
(3) Shahnawaz (4) Nizam
Heedl FHIMTETS! AR / SPACE FOR ROUGH WORK P.T.O.
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36.
(1) <9 e (2) TSR A SEd =rerd)
(3) A A T.U. TF (4) v S TS fim
Who formulated the ‘Operation Polo’ at the time of Hyderabad Police Action ?
(1) General Gogard (2) Major General Jayant Chaudhari
(3) Major General A.A. Rudra (4) Lieutenant General Rajendra Sing
37. TSR St st aehen gar ?
(1) YTERT U7 HEhT (2) TRV YTy 9
(3) 3THeUd dTEHR (4) HIRETY qraet
Who threw the bombshell on Nizam ?
(1) Bhaskar Gopal Kesakar (2) Narayan Pandharinath Pawar
(3) Anandrao Waghmare (4) Kashinath Nawandar
38. @Y HERTSZI TSI Garg STt 38 gl o gEiie B 7
(1) .. Giisat (2) THTHL 9T
(3) w.fa. atE (4) i@ et

Who from the following had suggested that the capital of Samyukta Maharashtra
should be Mumbai ?

(1) Y.K. Khadilkar (2) Prabhakar Padhye
(3) B.V. Warerkar (4) P.V. Gadgil

39. HMEUE W AT AT T FHUR < TEATIH &I
(1) ®eled GEIE IS gfitye (2) hicaT o1 ufte
(3) eferft favmfta afteg (4) T G T 9RvE

Madhavrao Khanderao Bagal and Ratnappa Kumbhar were the founders
of .

(1) Phaltan Sansthan Praja Parishad (2) Kolhapur Praja Parishad

(3) Dakshini Vibhagiya Parishad (4) Jat Sansthan Praja Parishad

HTH HATES! AWM / SPACE FOR ROUGH WORK

A
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40. o U Tl Huren e gl
(1) =sfiee TEust e (2) FFETRETS THEe
(3) FHHARH T (4) TURH Tg,
was the President of Rashtriya Stree Sangha.
(1) Ghoshiben Naoroji Captain (2) Avantikabai Gokhale
(3) Kamaladevi Chattopadhyaya (4) Sarojini Naidu

41, R e A wTe areet B R g R 7
(1) i e’ & i ge s
(2) 1868 Tt T VAT’ I1 G AIGHTEAT HAGATS HH el
(3) i 1878 Freht ‘femsmesr g el
(4) A ST A STEEE S’ S TST AT JAEA 3 Rl Hed
Which of the following statement about Vishnushastri Chiplunkar is incorrect ?
(1) He started a forthnightly ‘Vicharlahari’
(2) He edited ‘Shalakapatrak’ a Government monthly magazine after 1868
(3) He started ‘Chitrashala’ in 1878
(4) He published ‘Kesari’ and ‘Maratha’ newspaper in the ‘Aryabhushan’ press

42. @reliel T HArsd faar.

a. 3Fd el AT Bl SuATa ST

b. AEed Serdd WEh AT qOITA Yo el

c. fuamia e Haen gean H0amd AT

d. g B g HE HOAC AT
(1) d,b,a,c (2) b,d,a,c
(3) c,a,b,d (4) a,c,d,b
Arrange the following events chronologically.

a. Anant Kanhere was hanged.

b. Vasudev Balwant Phadke died in Jail.

c. Police armoury at Chittgaon was attacked.

d. The newspaper ‘Yugantar’ was started.
(1) d,b,a,c (2) b,d,a,c

(3) c,ab,d 4) acdb
THeedl HIMTS! AR / SPACE FOR ROUGH WORK P.T.O.
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43. 1919 =1 MG EhR=AT HIALTHR ATl TR 8 qEieiiehl Hiort S gt 7
a. G
b. 9re 3nfor ar
c. =T IO G qAEH
d. g=hres famo
(1) b, c MM d G (2) a 3mfT b He
(3) c 3mfor d wea (4) a,b M1 d Bed

As per the Government of India Act, 1919, the Central Government was entrusted
with which of the following duties ?

a. Defence

b. Posts and telegraphs

c. Administration of justice and jail

d. Famine relief
(1) b, candd only (2) aandbonly
(3) candd only (4) a,banddonly

44. wrdia foerdis F1er, 1904 a1 Hewld @iefiedehl v Tqe s/ 3mRd 7
a. faemfier Here TR wgd Frga Fo .
b. feremitadier T frwt wwR Fe e s,
c. HWEGHET HIATEEt & 5 auten U,
d. T oiet ata g favla qweer fegsia.
(1) ¢, b,a 2 d,a,b
3) cd (4) a,b,c,d
Which of the following provisions about Indian University Act, 1904 are not correct ?
a. Govt. will appoint the Vice-Chancellor of University.
b. The member of University will be appointed by the Govt.
c. The Duration of member will be 5 years.
d. Senate resolution and decision will be accepted by the Govt.
(1) ¢, b,a (2) d,a,b
3) ¢ d (4) a,b,c,d

THTAT HHTETE! AR / SPACE FOR ROUGH WORK

A
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45.- qéiel TR BT U A AR 7

a.
b.
c.

d.
(1)
3)

e faeg s Jehia He= T W07 B
i T T Sael SR - eETRe Y9, o e fomd, swdd See, ST
3 fo fammf Rea-dare, THYAHT, G, 0, G693, TIHIC S

TEERY @IS d oo 1 ASEd 3.
A amATE et (2) aged Sdd BEh
1y M@ (4) werEha frees S

Who is described in the following sentences ?

a.

b.

d.
(1)
3)

He was the soul behind the conspiracy against the British at Beed.

He assumed various names, such as Raosaheb Peshwe,

Ganesh Keshav Limaye, Balwant Jagadamb, etc.

He moved from place to place - Kathewad, Rajputana, Surat, Pune, Bombay,

Rajkot, ete.

Dadasaheb Khaparde and Tilak knew him.

Veer Wamanrao Joshi (2) Vasudev Balwant Phadke
Bapu Gokhale (4) Sadashiv Nilkantha Joshi

46. T 1935 S W TEHTCSAT HITETHE TErSure HeT sHiquar= o geedie SR

1 0T AT,
(1) TR SR (2) F2a S
(3) fafen aw=n (4) TR SRS 2 HEHH B

In the Govt. of India Act, 1935, the right to make and amend the Constitution of

the Union was given to

(1) Governor General (2) Central Legislature
(3) British Government (4) Executive Council of Governor General
el HMEE! SR / SPACE FOR ROUGH WORK P.T.O.
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‘1945 Tomen afve dewla Erefiets! S/t faam /3 g6 sma

a. T Sfafeh TuE et sgne anh e 2.

b. ferg meraue wfafreft dfea nemiiet et geamh smet 8.

c. wwﬁq%aaéﬁaﬁﬁaraafm?ﬁ

d. geefm i gfafie mvE Seme sl s e e 2.

(1) & a, b 31 d ghi 3R (2) % b g% 3R

(3) e c U1 d ghH 3R (4) W a 3T d gHE R

Which of the following statements regarding the ‘Simla Conference in 1945’ is/are

incorrect ?
Maulana Azad participated as a representative of Congress Party.

Pandit Madan Mohan Malaviy participated as a representative of Hindu
Mahasabha.

c. Discussion in this conference was on Wavell Plan.
d. Mohammad Ali Jinna participated as a representative of Muslim League.
(1) Only a, b and d are incorrect (2) Only b is incorrect

(3) Only c and d are incorrect (4) Only a and d are incorrect

48.

HIvHR g faferfetomesn a T TR Jaq4™ 8.
(1) ufed T=g w

(2) 1. WG WETSH

(3) TS S w6

(4) ©iE 3™

At the time of Merger of Princely State of Kashmir was the State

Prime Minister.

(1) Pandit Ramchandra Kak

(2) Justice Meherchand Mahajan
(3) Major General Janak Sing

(4) Lord Esme

THeeAT HHHISI ARM / SPACE FOR ROUGH WORK
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49.. F1T T HEABION 1967 areft TR FeleaT <@l FeH! HRIHAT Wiefierdeh! HIT

Jawtd gl ?

a. o o7 e SETE TsdRfeRTT.

b. TS SATIRIE TR R

c. S GUROT AT STerg AT

d.  3eifies TeierEt fEm.

(1) W% b 3nfor d s (2) W a T d T
(3) Wa,cmdaﬁﬁ'{ (4) et gd st 378

The ten point programs announced by the Congress Executive Committee in 1967

included which of the following ?

a.
b.
c.
d.

(1)

3)

Nationalization of Banking and Insurance Industry.

Government control over foreign trade.

Implementation of land reform program speedily.

Control of Industrial Monopolies.

Only b and d is correct (2) Only a and d is correct
Only a, ¢ and d is correct (4) All of the above are correct

50. Wreficideh! b=t SISl JAesEl.

(1) SHardt wfgen sEre — #idam ()
(2) @it _ ufien d@aSEE W FOM FEawes
(3) =9 R NECIKEZICIARECEE]
(4) et foamdie — U St gEes ST 1974
Identify the wrong pair from the following.
(1) Janwadi Mahila Aghadi - C.P.I. (M)
(2) Manushi _ A Periodical to Work for Women Movement
(3) Anvesha —  Feminism newspaper in Bengal
(4) Usmaniya University —  Foundation of Progressive Women
Association in 1974
el HHMETE! AT / SPACE FOR ROUGH WORK P.T:0:
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51. 3T Sesed Hicgeht MM fw morer ffa o 2 2
(1) q Tt TeH= oGS B
(2) o BRI Shicier B
(3) @ W tnphatie 72 B
(4) @ fomreafa 37 8w

Who were Achyut Balwant Kolhatkar and Vishnu Ganesh Pingle ?
(1) They were the authors of Marathi plays

(2) They were the revolutionaries from Maharashtra

(3) They were the actors on Marathi stage

(4) They were the leaders of the students

52. Wmmﬁmm@,m%,aﬁmﬁmgﬁmﬁm
(1) g9w=g "
(2) dfrmag e
(3) .. T™m
(4) g TR

Basanti Devi, Urmila Devi and Suniti Devi from family were arrested

for selling Khaddar on the Streets of Calcutta.
(1) Subhashchandra Bose
(2) Bankimchandra Chatopadhyaya

(3) C.R.Das
(4) Rabindranath Tagore

THeedl HMTHTS ART / SPACE FOR ROUGH WORK

A
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53. 1936 =1 ifae At fham e S Jofie gE=n SrftEwET 3TeEE Wi e ?

(1) fe.am i (2) HIETE IY

(8) WS Tm (4) fera Sast

In the year 1936 who was the President of the Second Session of Akhil Bhartiya

Kisan Sabha at Faijpur ?

(1) V.R. Shinde (2) Keshavrao Jedhe

(3) N.G. Ranga (4) Dinkar Javalkar

54. WCCdh! oA /oI STETET GHET, 1936 =41 Haqy ARewETE Fegar ?

a. 1935 AT HRAATAT Gl GUATd AT,

b. 13 HerH! SHRIHATT HS[{l qUATd 3T,
c. " Uityg SerauaT=t HEToft sHoaTd ATl

d. TR TS ReTET Y ST 3T

(1) e b 3N ¢ ST AR (2) % a M ¢ ST AR

(3) W a ST 3R (4) e a M d ST AR

Which of the following resolution is/are not included in the Faizpur Session of 1936 ?
a. Gave Consent to Act, 1935.
b. Thirteen Point Program was Approved.
c. Demanded to Call the Constituent Assembly.
d. Condemned the Policy of Exploitation of Money Lender.

(1) Only b and c are correct (2) Only a and c are correct

(3) Only a is correct (4) Only a and d are correct

55. ‘1892 =1 WA qftyg hrrgr ffesr aeRr wefier shivrean v&m wTid et ?

(1) erHEETE uE (2) TEETE (Fiereiceg) u&

(3) TR UM (4) gUTH &

Which party in British Government passed the ‘Indian Council Act, 1892’ ?

(1) Democratic Party (2) Conservative Party

(3) Labour Party (4) Progressive Party

FHeA HIWMEIS A / SPACE FOR ROUGH WORK P.T.O.
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56. u=m, S, fasmn smfor i & = wEE g 2o} fermo aTred.
(1) g (2) diges (3) #Hl (4) =t
Padma, Jaya, Vijaya and Ratna are the High-Yielding varieties of
seeds.

(1) Wheat (2) Rice (3) Maize (4) Bajra

57. YEict feg Hem@we Hried d @ HM Hia FHAc ST aren Sre=n Jesar.

a. AN, IR I 9

b. wETCERIEA fedet 1.

c. Trarm fomp ares II. 9@

d. s TowE widie V. «rret-firms
a b c d

(1) 1II IV I11 I

@ 1 11 IV 111

(3) IV 111 11 I

(4) III I 11 v

Match the following workers of Hindu Mahasabha with the places where they

used to work.

a. N.G. Abhyankar [. Solapur

b. Mahadevshastri Divekar II. Pune

c¢. Shivram Vishnu Modak ITI. Satara

d. Vishnu Ramrao Patil IV. Sangli — Miraj

a b c d

(1) 1II v 111 I
@2 I II IAY 111
3) IV 111 IT I
(4) III I II v

HTT HIHTHTS ST / SPACE FOR ROUGH WORK
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58.- I, 1930 HE 1.9, FfEH T T hevean “fégrenh Afeem garen” e v gl ?
(1) FHeamft T=e (2) Fgu |
(3) wHad =ad (4) N TGS

Who was the Captain of “Hindusthani Sevika Dal” established by N.S. Hardikar
in June, 1930 ?

(1) Kalyani Sayyad (2) Kusum Sohani
(3) Kaveri Chaudhari (4) Krishna Sardesai

59. fag wemanfawht %= g amR ?
a. Tég wemd= 19 9 ftEvE 1 SHEH, 1938 TS wurfadt I ur e,
b. 1949 W&l BT, .M. W 7 fig wemw e .
(1) e faum a 9o 3@ (2) a 3N b faum 3@ R
(8) a 3T b foum Tcg ImRd (4) e faa™ b g 3R

What is the truth about the Hindu Mahasabha ?
a. 19*" Conference of Hindu Mahasabha was held on 1 January, 1938 at

Karnavati.
b. Dr. N.B. Khare became the President of Hindu Mahasabha in the year 1949.
(1) Only Statement a is true (2) a and b Statements are not true

(3) a and b Statements are true (4) Only Statement b is true

60. ST HRIGIH I~ IR TELE 3TUITE HH TTeg- T 58 I ?
(1) 1861 =1 sfeaa wifTa 3w (2) 1935 =1 RA TTHIET el
(3) wici-THer gamon &R (4) H=TY-AEHIE GURT HRG

Which Act empowered the Governor General to supervise upon the

High-Commissioner ?

(1) Indian Council Act of 1861 (2) Government of India Act, 1935
(3) Morle-Minto Reforms Act (4) Montegu-Chelmsford Reforms Act
e HHTETS! ST / SPACE FOR ROUGH WORK P.T.O.
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61. IT=SIEAT fUsh wfehar ool S W= JHvN UfSerged sHeien TEdl AT ST’
foreiediar atTd rer TEUTTA.
(1) sfermfesEr (2) AFfesR (3) WEMIR &t (4) HEIERR
The more plastic region of the mantle which is largely composed of peridotite
and on which lithosphere floats is called
(1) Asthenosphere (2) Monosphere (3) Oceanic block (4) Mesosphere

62. 3.49. 1911 HEA Y11 SHTeiell Gieflciish! HIvIAT U . TeH HETS A= Bl ?
(1) Ferentier Terdan sfags (2) WMfets et TuE
(3) UHEEY Y (4) I TTE
Which of the following book published in 1911 was of Miss. Ellen Semple ?
(1) History of civilization in England (2) Influence of geographic environment
(3) Anthropo geography (4) None of these

63. AT YEUTE HHSGA ddes TfawH Rrgra wivft Areen ¢

(1) 3 sy, &8 (2) BW (38) e (4) IamA
Who put forward the concentric zone theory of urban structure ?
(1) E.W.Burgess (2) Homer (3) Hoyet (4) Ulman

64. s, SO o S AT PTeTasTiA shivredn foem Tl ane e 7

(1) SredTETe (2) IEEIAETG
(3) HoBAEdT] (4) =fie =
Which concept was supported by the geographer Blache, Bomen and Bruns ?
(1) Possibilism (2) Determinism
(3) Fundamentalism (4) All of the above
65. TUHEE SAEE A (Ed) fem TSt g& e,

(1) 1Tfie2019 (2) 5IAM 2018 (3) 2594 2015 (4) 103 2020
Pradhanmantri Awas Yojana (urban) Mission was launched on
(1) 1April 2019 (2) 5 August 2018 (3) 25 June 2015 (4) 10 June 2020

TSl HHTETS AN / SPACE FOR ROUGH WORK

A
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66. NI Ter=n = @R &R ITHRT HeWid Fedl e ol
a. @i
b. smeeft
c. ardt
d. T
e. WIS
(1) b, ¢ a, d, e (2) ¢, d, e a, b
3) e a, c b, d (4) a, e b, c d
Arrange the Indian rivers in ascending orders with reference to their basin size

area.

a. Suvarnarekha

b. Brahmani

c. Tapi

d. Narmada

e. Sabarmati

(1) b, c, a, d, e 2 ¢, d, e a b
3) e a, c, b d (4) a, e, b, c d

67. @refieeh! sivrd/f faam /3 ster T /a ¢
A. t anfr ve elt geefien stia W @rere 4Ud @Y Wiees) Yo T,
B. geAt=N aTa Rwn R e e St aieel.
C. yedften siaumdie fit eren SehrrR 3@ & wuram.
(1) A 2 B 3) AC 4 ABC
Which of the following statement/s is/are not correct ?
A. P and S waves penetrate upto great depth inside the lower layer of the earth.
B. Sima layer is found above the Sial layer in the interior of the earth.

C. The Nife layer in the interior of the earth is also known as Barisphere.
1) A 2 B 3) AC 4 A B,C

THeedT HIMTATS ST / SPACE FOR ROUGH WORK PFO.
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68. Sire=n el

wehy fawmt o
A, I i. 1905
B. feeem ii. 1993
C. el iii. 1890
D. &= iv. 1991

A B C D

(1) 1 v il i1l
(2) 1 11 1 v
(3) iv il i iii
(4 1 111 v i
Match the following.

Earthquake region Year
A. Uttar Kashi i. 1905
B. Killari ii. 1993
C. Kangra 1. 1890
D. Kutch iv. 1991

A B C D
(1) 1 iv il iil
(2) iii i1 i iv
(3) 1iv i1 1 11l
(4) i iii iv i
69. Wrefterdeht Sivrd) faem™ stet AT ?

A, & TR heledn GUeET wIEn s Fordrd.

B. Jatcied AqH & FHURT Wi AqH TR,

C. PURI A G Weud qar glard.

(1) A'B (2) B,C 3) A C
Which of the following statements are not correct ?
A. The lakes created by glacier are called Playa.
B. Netherland plain is of Cuesta type plain.

C. Cuesta plains are created in limestone region.

(1) A/B 2) B,C 3) AC

4) A, B,C

(4 AB,C

oAl HHTHETS AT / SPACE FOR ROUGH WORK
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70. el faa™ Ta.

A. STy @EH IHRH HIS A 991 d G9 Gieral FHard.

B. ifcty WeHh AR T T U0 § U Wietal 3THdTd.

C. Wi WeH g AT TR @eh 38,
Fhierush! Hivrd /dt fagm /3 st TEa ?

(1) A (2) AB

3) B,C 4) AC

Observe the following statements.

A. Batholith rocks are large in size but they are not in deep.
B. Laccolith rocks are small in size but they are at deep.

C. Stock is a igneous type of rock.

Which of the above statement/s is/are not correct ?

1) A (2 AB
3) B,C (4) A,C

71. AT TEHYRO FE 2023 B 9§ AU =9 (Hiewe) av wmuE ey
ifyd el

(1) = 2021 (2) IS 2022 (3) HHE 2023 (4) SHaR 2023
UNGA declared 2023 as International year of Millets on
(1) March 2021  (2) October 2022 (3) March 2023 (4) dJanuary 2023

72. TH wH-1, U wH-I1 37fer o we-T11 faem Wia sreme shiceft frEia amR.

(1) ez st (2) T SHicht
(3) eI shid! (4) ia i
MM-I, MM-II and MM-III Missions of Govt. of India are related to
revolution.
(1) Blue Revolution (2) Sweet Revolution
(3) White Revolution (4) Yellow Revolution

FHTeA! HIHETS! AW / SPACE FOR ROUGH WORK P.T.O.
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73. TENS TSt HHesM ‘auae fus fomm e gefevaren fvla e vaen 2
(1) SHET 2016 (2) WsET 2016
(3) wie 2016 (4) ™ 2016
When did the Maharashtra State Cabinet take decision of implementation of the

‘Prime Minister Crop Insurance Scheme’ ?

(1) January 2016 (2) February 2016
(3) April 2016 (4) May 2016
74. e Jesa.
Vet EneA Qe aoT
A. faem i 3T
B. 37 Sevft I i, A
C. 37 Feas iii. v
D. Tast wEel iv. TH®
A B C D
(1) iv i1l i ii
(2) 1ii i iv 1
(3) iii iv 1 i1
4 1 1 111 iv
Match the following.
Farm tools Improved variety
A. BSickle i. Ankur
B. Mango harvester ii. Nutan
C. Groundnut hoe 11i. Vaibhav
D. Toothed spade iv. Swastik
A B C D
(1) iv iii i ii
(2) 1 1 iv i
(3) 1ii iv i il
(4 1 i iii v

FHeeAl HWHES! AN / SPACE FOR ROUGH WORK
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75. S JoEal.
et AT
A. Ja9TEg 1. 15° 75
B. ddmETg ii. 19° 94’
C. =gt iii. 17° 98’
D. IvEATE iv. 17° 81’
A B C D
1 i iv i iii
(2) iv 1 11l i1
3) 1 111 1 v
(4) 1 ii v i
Match the following.
Forts Latitude
A. Pratapgad 1. 15° 75
B. Daulatabad . 19° 94’
C. Naldurg i, 17° 93’
D. Yashwantgad iv. 17° 81’
A B C D
1) 1 iv il 111
2) iv 1 111 ii
3) i i1l i iv
(4) iii i iv i

76. @refierdeht o/ faum /3 siew 3mR/a 7

A, grEToft A WISV AW EE F1 SdieesA THRHS fEqRumIm 9 geter 3112,

B. TEEYER I AW ¢S M@Bdl BV a¥ 3000 .. Yan Sr wrsa vea.

C. %Y IR TS TEuTd HAEBU T e g TET=T TR

1) A (2 A, C 3 B,C 4 A B,C

Which of the following statement/s is/are correct ?

A. The laterite rock found at Pachgani is formed due to chemical weathering
of basalt.

B. Laterite rock is found at Mahabaleshwar because of rainfall of more than
3000 m.m. there.

C. Laterite rock found in Konkan coastal region is of secondary form.

(1) A 2 AC 3 B,C 4 AB,C

THeed! WIS SR / SPACE FOR ROUGH WORK P.T.O.



34 K18

77. ‘far fFR e T@R gam 7
(1) H&EW TTUITETe! ST deal (2) ST UTITETE FSATR
(3) et 3revrest fmior Edl deat (4) =Tl T
When are ‘Ria’ coasts formed ?
(1) Estuaries are submerged (2) Deltas are submerged
(3) A highland barrier is emerged (4) None of these
78. diEET AT SeEl TEa TRUIee ITehgd GIaTUhe 3T T JTEedTd. e ITdTH

efaroreta e wievft .

a. =T Ta

b. 3TeAe HUER

c. TSdE TUT

d. TmfaeRT et
(1) ¢, d,a,b (2) b,c,a,d (3) a,d,c,b (4) b,c,d,a
From Red sea to river Zambezi i.e. from North to South many lakes are found.
Arrange them in sequence from North to South.

a. Lake Nyasa

b. Lake Albert

c. Lake Edward
d. Lake Tanganyika

(1) e, d,a,b (2) b,c,a,d 3) a,d,c,b (4) b,ec,d, a
79. Wl SR 9 e

A. TEES i. fasumTd

B. R i, et

C. weemse iii. gt Hresar

D. TR iv. dreEl @S
A B C D

1) 1 11 1 v

(2) 11 1 iv i

3) 1iv i il i1

(4) 11 iv 1 11

Match the following Metamorphosed forms.

A. Graphite 1. Clay

B. Slate 1. Limestone

C. Quartzite iii. Coal

D. Marble iv. Sandstone
A B C D

(1) 1 11 1l iv

(2) 111 1 v i

(3) 1iv 1 1ii il

(4) 1l v 1 il

Tl HIHTETS AN / SPACE FOR ROUGH WORK
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80. Wrefterdsh! hivrd/dt faum /3 stet ame/q 7
a. AT 9 AN Ve el JedieaT iaria WRTTel ST Teeuree Jeafiea
b. maﬁmagmmﬁ'q‘asﬂwq%aﬁwmwmﬁamwm
FACTIE STaTTeAl erea T farseft S wTeq shtan A AL

c. ¥y ol & gt St W Y hiid TIer.

d. qﬁmmﬁmmmwmwmﬁwmm.

(1) a3mferb (2) wad a (3) b3 c (4) camfor d
Which of the following statement/s is/are correct ?

a. From the pattern of travel of primary and secondary seismic waves

through the interior of the Earth, knowledge can be obtained about the
composition of different layers of the interior of the Earth.

b. The pattern of travel of primary and secondary seismic waves through the
interior of the Earth does not provide knowledge about the composition of
different layers in the interior of the Earth.

c. Seismic waves do not travel through the Earth’s interior.

d. Earth’s interior is not made up of different layers but is one layer
everywhere.

(1) aandb (2) Onlya (3) bandc (4) candd

81, @refterdeh! Hivr /<t faam /3 stsx 3me/a ¢
A, AL T 1958 9 WoE ewt dAmE wrn fefa swaren s
HAT HTAL
B. 9330, wed ¥ B WA TR 45 G Ieamman HH 3.
C. F.3mA.30. A I8 Ters e s Tave faewiia .
(1) faum A anfor B ) faum A anfor C
@) faum C (4) faum B sufor C
Which of the following statement/s is/are correct ?
A. D.R.D.O. was formed in 1958 with the mission to develop strong indigenous
technology base.

B. In D.R.D.O. salary of grade B scientist is less than grade G scientist.
C. D.R.D.O. developed brake parachute for Tejas combat aircraft.

(1) Statement A and B (2) Statement A and C

(3) Statement C (4) Statement B and C
FHEAT HHTETS AN / SPACE FOR ROUGH WORK P.T.O.
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82. wHihvITiel frer anftr w1 79 S@v=n = e IR g Reer.

(1) TITS - 9IATeT, 361, Fsferh!, @@
(2) TR - afirsd, roredt, s, witsn
(3) Taygt - g, &efl, di@iw, 3=
(4) UITER - Ao, fisres, gat, e

Select an incorrect alternative about the districts of Konkan and rivers flowing in
them.

(1) Raigad — Patalganga, Amba, Kundalika, Bav

(2) Ratnagiri — Vashishti, Kajali, Jog, Bharja

(3) Sindhudurg — Gad, Karli, Terekhol, Achra

(4) Palghar — Vaitarna, Pinjal, Surya, Deharja

83.

@refierehl o fyam stet sma 7

A. DIHUTT 3Tl et Shefl w1a.

B. SIshUTd TAfE= 3Ucisd 3EeAe 3itelt It et .

C. ST gST=aT AT i Siswurd arasiarcia & s o1,
(1) faum A anfor C (2) faum B anfor C
(3) faum A anfor B (4) faum A, B a3nfor C

Which of the following statements are correct ?
A. Wet agriculture is practiced in Konkan.
B.  Wet agriculture is practiced in Konkan due to availability of irrigation.

C. Cultivable area is less in South Konkan due to existence of laterite rock.
(1) Statement A and C (2) Statement B and C
(3) Statement A and B (4) Statement A, B and C

84.

? W, SRS Sfor wfvraren wHeR s srufee seeeieE e
WIAtET UTid 3173,
(1) ft.am.uE. (2) Sit.di.um. (3) TV (4) fHAH&HA.

is built on knowledge from Geography, Cartography and Mathematics

and of course on the advancement in the field of Electronics.
(1) GIS (2) GPS (3) Computer (4) CTBT

FHeedl RS AT / SPACE FOR ROUGH WORK

A
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85. Wrefietishl HIval fieal HrRAEe @i IceaEd Tfig 3mg 7

(1) TR (2) TS (3) I (4) wem
Which of the following district is well known for Kyanite mineral production ?
(1) Ratnagiri (2) Raigad (3) Chandrapur (4) Bhandara
86. [shad I TRV AT I JTHUAT &UH 3 TRUTAT.
a. e faemman
b. #&l feremrar
c. TeAE faemman
(1) e a S IR (2) W b ST 3R
(3) a, b MR (4) a,b, c TS MRA

The layer between the crust and mantle is called

a. Weichert discontinuity

b. Moho discontinuity

c¢. Guttenberg discontinuity
(1) Only a is correct (2) Only b is correct
(3) a, b are correct (4) a, b, care correct

87. Ieitshed IOl e WERISETIS WIeli™ T ¥l
a. Tg{= @rel
b. gt @rEt
c. fosagt=h @t
d. fEe @l
(1) a, b, c, d (2) a, c b,d 3) a, b, d, ¢ (4) b, a, c,d

Arrange the place of creeks in Maharashtra from North to South.
a. Rajpuri creek
b. Dhabol creek
¢. Vijaydurg creek
d. Terekhol creek
(1) a, b, c, d (2) a,c, b, d 3) a, b, d c 4 b, a, c d

ol HIFTETS AN / SPACE FOR ROUGH WORK P.T.O.
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88.

38 K18

(1) TEEEE U8R (2) TEETE UBK

(3) wETET UBK (4) hEEAT™

Which of the following is a block mountain type in India ?

(1) Meghalaya Plateau (2) Deccan Plateau
(3) Ladakh Plateau (4) Kedarnath

89.

@refterdehl shivr /dt faams /A stsr smea 7

A. fogreieft st o TeeqEE siate o 8.

B. ufife ufiferdt amet shammdt smga s@a 19 frgteiean swn @m g,
C. Trgwen awn ad grftf 3o srEam.

D. fagieien a&an AerHt Yeuimd aam gidrd.

(1) % A (2) A 3mforB

(3) ®E C (4) CanforD

Which of the following statements is/are correct ?

A. Dispersed settlement means spatial isolation of home group.

B. Scattered settlements are formed where the natural conditions are suitable
for human life.

C. Scattered settlements are equipped with all amenities.

D. Scattered settlements are formed in plains.

(1) Only A (2) Aand B
(3) OnlyC (4) CandD
90. THTE FAHTSAT THTEA! AGBTHR AT T I TR,
(1) et it 2 WA |
(3) dfewrr (4) <HITHR
Maasai people have circular settlements called
(1) Floating settlement (2) Crawal
(3) Vedikakar (4) Checkerboard

TSl HIHMEIES AR / SPACE FOR ROUGH WORK

A
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91. @refid fagmmEn fo=m #u.

i. TR qdheel SAMEt UedTs YETr HHt 3R,

ii. TERISrEAT qd 9T ST HiGH ST oSt qrhe Sl
iii, HERTSErAT Afd qdee qe-re JuTvr SHt gld 9.

(1) faum i nfor ii s 3mga, oo faam iii ghe 3

(2) faum i 3nfor iii R 3R, qur faum ii g 3R

(3) faum ii i iii SR 31Rd, o fau i gHE TR

(4) ofe Td faum St 3R

Consider the following statements.
1. Rainfall is less on the eastern slopes of the Sahyadri.
ii. The eastern part of Maharashtra receives some rain from the Northeast
monsoon.
i1i. The rainfall decreases towards the extreme east of Maharashtra.
(1) Statement i and i1 are correct but statement 1iii is incorrect
(2) Statement i and iii are correct but statement ii is incorrect
(3) Statement 11 and ii1 are correct but statement 1 is incorrect
(4) All the above statements are correct

92. Wreftel faamTen fa=m .
a. oAl It IHTH 9 THT ravArEn quied ST,
b. STEHNTHGT FH-TH YISSThS WA A9 TH-TE1 & TG gal TE0T Hrad.
(1) adbsUe 37FI b g a = AT HRU TR
(2) adbsUE 3FA b 2 a ™ AT HROT ATEI
(3) a SIS 3@ & b I 3T
(4) b AR T a IF AR
Consider the following statements.
a. Air has the property of contraction and expansion.
b. Asit descends from space towards surface, the pressure increases and air expands.
(1) a and b are correct and b is the correct reason of a

(2) a andb are correct and b is not the correct reason of a
(3) aisright and b is wrong

(4) b isright and a is wrong
A1 HIFTES! W / SPACE FOR ROUGH WORK P.T.O.
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93.

WTeft WA SoET 9y 3nfor o o feet 3. amr s o
i fér Uit
A. 2001 1. 941
B. 1981 1. 943
C. 1961 1. 933
D. 2011 iv. 934
A B C D
(1) 1iv 1 i 11l
(2) 1 v 1 11
3) 1iv 111 1 i1
(4) il i v ii
Census year of India and Sex ratio is given below. Match the following.
Year Sex Ratio
A. 2001 i. 941
B. 1981 i. 943
C. 1961 ii. 933
D. 2011 iv. 934
A B C D
1) iv 1 i1 111
(2) i v 1 11
3) iv iii i ii
(4) 1 1 v i

94.

a. hicadl W 3@ wrTal H I Menyld TR @ e e e gean.
b. icEEn frem 3@ |rTar i gférer Menata TR = ge it g g,
c. hiewen fm ity seme snaia 3R,
FheTUhl HIvret foem st 3mea ?
(1) faum a 3nfor ¢ (2) faum b anfor ¢
3) faum a smfor b (4) faum a, b anfor ¢
a. Ferrel's law states that winds are deflected to the right from their original
direction in the northern hemisphere.
b. Ferrel's law states that winds are deflected to the left from their original
direction in the southern hemisphere.
c. Ferrel's law depends on coriolis force.
Which of the above statements are correct ?
(1) Statement a and ¢ (2) Statement b andc
(3) Statement a and b (4) Statement a, b and c

HESAT HHEE! FRT / SPACE FOR ROUGH WORK

A
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95.- Wrefiateh! daeH™ THR HIUd ?

A. AT

B. R

C. BmEA

D. @&

(1) % A, B 3tfor C (2) % B, Ca3nferD
(3) W A, B3 D (4) =0e ud

Which of the following are the types of sensor ?

A. Camera

B. Radar

C. Photograph

D. Scanner

(1) Only A,Band C (2) Only B, Cand D
(3) Only A, BandD (4) All of the above

96.

@refietteh! I /Hord faem/faum stsr e/ ?
a. 24 9@, 1998 st T Hritd Inrerat JAA Ffam s7aey e,
b. ET 2006 WEY T TEARAT e 33 Wlka I WS wiEHE 2251
fafsra fuferedt Sumamft zat Feh.
c. .3TRIE ITE FZM 14 R 2022 Toft 319 Faoh werewell o AR hel.
(1) faum b suferc (2) faum aanforb
(3) faum a, banfiic (4) faumc
Which of the following statement/s is/are true ?
a. OnJuly 24,1998, an operational satellite and space debris of European rocket
collided.
b. Iridum 33 satellite of USA collided with Cosmos 2251 inactive Russian military
satellite in February 2006.
c. U.R. Rao satellite centre celebrated its Golden Jubilee on September 14, 2022.

(1) Statementb and ¢ (2) Statementaandb
(3) Statement a,bandc (4) Statementc
el HIWHETS! A0 / SPACE FOR ROUGH WORK P.T.O.
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97. i 1HEh duieh R Resieh TR A W 11 7o e 71 e s, e T

WY 11 =7 Sfie=n Jesdn 9 917 iy e,

w0 I (3m) w9 11 (3UR)
a. W i. RADARSAT
b. sERES ii. EARLYBIRD
c. I iii. CARTOSAT
d. wd iv. EROS
e. hASl v. SPOT

a b c d e
1) iv v i i i
@2 v i iv i iii
3) v iv i i i
4) iv i 111 1 v

In Column I names of countries are given and in Column II names of satellites
are given. Match Column I with II and select correct option.

Column I (Countries)

Column II (Satellites)

a. France 1. RADARSAT
b. Israel 1. EARLYBIRD
c. USA. iii. CARTOSAT
d. India iv. EROS
e. Canada v. SPOT

a b c d e
(1) v iii 1 il
(2) 11 iv 1 111
3 v iv i i i
(4) iv i iii i 4

98.

€337, = aniesmETett wifeee - 19 |t FIvrd @9 TR Hel ?

(1) 2-ush.

(2) 14

(3) 2 -t

(4) Tl ATE

Which vaccine is produced for Covid-19 under the supervision of DRDO ?
(1) 2-AG

(2) 1-BG

3) 2-DG

(4) None of the above

FHoedl BTSN / SPACE FOR ROUGH WORK

A
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99.- wrefietiehl qEaETE g de HIvrd! ?

Rt
HATH
TR

D. wiehH
(1) % A, B anfor C (2) % B, C 3for D
(3) W& A, BaforD (4) @ wd

Which of the following are the fundamental principles of remote sensing ?

Q= >

A. Solar energy

B. Sensor
C. Radar
D. Platform
(1) Only A,BandC (2) Only B, Cand D
(3) OnlyA,BandD (4) All of the above
100. GreAerish! Hivd /d ferer/faum @ 3R/ 3med 7
a. ‘GSAT — 3 &1 widtg feror dsren dar gefaom afeen swrE 3R,
b. = 2001 H8Y ‘Met Sat — 1’ a1 TR ‘SHeddl — 17 I TG H0AE 3T B,
c. WA TEEE YA [EUR ‘GSAT — 7A’ 91 SWIE v St 9 3.
(1) e faam a afoT b (2) e fqam a i c
(3) Ferd faum a (4) 44 faue a, b afor ¢
Which of the following statement/s is/are correct ?
a. ‘GSAT — 3’ was the first satellite to serve the Indian education sector.
b. ‘Met Sat — 1’ satellite was renamed as ‘Kalpana — 1’ in the year 2001.
c. ‘GSAT — 7A’ satellite, which facilitates services for Indian Airforce is
nicknamed as ‘Angry Bird’.
(1) Only statement a and b (2) Only statement a and c
(3) Only statement a (4) All statements a, b and c
FHoedl SIS AR / SPACE FOR ROUGH WORK P.T.O.
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EI2IRSICIR

et - 1
faem a1

1.

1.

1v.

a.
b. feem dres ii.
c. GHiaT AR 1ii.
d. 3r%u ¢S 1v.

a b c d

(1) i iii 1 iv

(2) 1 iv ii i

3) i i iv i

4) iv ii i iii

Match the following.

List -1
a. Vilas Salunke
b. Bindeshwar Pathak
c. Sunita Narayan
d. Arun Deshpande
a b c d

(1) 1 iii i iv

(2) iii v ii i

3) 1 i iv i1

(4) iv i i iii

44 K18

e - 11

‘T g e A1 ufie yehren

o viraTerd ge=f T

wift wata fommmm Frarh snyfes aard sgac
aroft verdE wor

List - 11

Publisher of the magazine ‘Down to Earth’
Establishment of Sulabh Shauchalaya facility
A modern colony called Vigyangram was

established at a low cost

Father of Pani Panchayat

HeeAl HIHTETS! RN / SPACE FOR ROUGH WORK

A



102.' gataue SRR § 9 98 e A SIS @l

HE EL ]
a. IS & el i. 1974
b. o GI&H HEC ii. 1981

c. v (wfosie a wgwor FrEon) s iii. 1972
d. wan (wfqea o wguur fEen) shrre iv. 1980
a b c d

1) 1 i1 i1 v
(2) iv 111 11 1
3 m v 1 il
4 1 1 v 111

Match the correct pairs of Environmental Act and its year.

Act Year
a. Wild Life Protection Act i. 1974
b. Forest Conservation Act . 1981

¢. The Water (Prevention and Control of Pollution) Act 1. 1972
d. Air (Prevention and Control of Pollution) Act iv. 1980

a b C d

1 i i i v
@ iv i i i
(3) i iv i i
@ i i v i

K18

Hoedl HIWTETS! AT / SPACE FOR ROUGH WORK
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103. gdia faremmen fomm s,
i wE-SE-3ifaaTge M Wi Tl g Saeer g9y IR,

ii. HEH-SRI- RIS, His -1 - FTES, HIsTcd! M TS -21 - 3THTES AT AR

iii. hIoIeSl, o8, HTqe HT I Tt Ay aerdtea ATy SeEsT 91 B,

iv. gl FUE e aTed A aTaTeRvITdtel JEeR SHTOr SH B 31T e aitom
g TR B

(1) i 3nfor ii 9 3mRa (2) i, iii ST 314

(3) i, ii, iv g% 3M_d (4) i, ii, iv SR 3R

Consider the following statements.

1. There is a close relationship between carbon-di-oxide and solar radiation.

. Due to the accumulation of sulfur-di-oxide, carbon-di-oxide, soot and
nitrogen-di-oxide in the atmosphere on the plant components the
photosynthesis activity slows down.

iii.  Soot, dust, metal particles and toxic air increase the amount of vapour
emissions of plants.

iv. As the earth’s average temperature increases, the amount of moisture in
atmosphere decreases and affects air circulation.

(1) 1and ii are incorrect (2) 11, 1i1 are correct

(3) 1,11, 1v are incorrect (4) 1,11, iv are correct

104, @reftet STfees drdediedia Safafemr awa i dadfa fume weaor se dm gt fae.

a. Sfdeh Tdediadia wHia HHt 325 qeaum gl Safafuda qars-afFay g

JEeRT Idrd.
b. i TTdeatel qud et Tidrdter ‘e’ ® T qweds IR,
(1) faum a anfor b S8 == IR
@) faum a st sfr b 2 9% sm
(3) faum a anfor b =t =0 3mR
(4) Taum a g 3nfor b ST 3112

Examine the following statements related to global biodiversity hotspot’s and
select the correct options.

a. At least 325 globally threatened species occur in the biodiversity hotspot of

western ghats.

b.  Out of the global biodiversity hotspot’s ‘Himalayas’ in India is one of them.
(1) Statement a and b both are incorrect

(2) Statement a is correct and b is incorrect

(3) Statement a and b both are correct
(4) Statement a is incorrect and b is correct

Heed HMHETES! ST / SPACE FOR ROUGH WORK

A
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105. W1 HE0 — N1 — Tehel — HIEER 7HE & JUnTel 3R,
(1) wEERl 3= vgd (2) GIhel (Sew) 3 TrEAl
(3) 314 Sl g (4) et
Leaf litter — Algae — Crabs — Carnivores fish is a system.
(1) Carnivore food system (2) Detritus food chain
(3) Food web system (4) None of the above

106. @mm(l)n@wmmwﬁmanﬁaﬁzﬁ&éémam(m
ne gedid oy feeiel 3med. I S Jel.

W () (FEr= 20) wWw (IT) (ad)
a. U $ga s Hrihn AR i. 1977
b. WR Gt @ ii. 1952
c. T TS AREEAT HIT FHAT T iii. 1946
d. ‘Bed FRieE faummy ‘e sheam favm o TEiat iv. 2000
a b c d
1 i iii iv ii
2 il v i i
(3) il iii iv i
(4) ii iv i iii

In the following Column I milestones in the evolution of the population policies of
India are given and in Column IT associated years are given. Correctly match them.

Column I (Milestones) Column II (Years)
a. The National Family Programme launched i. 1977
b. Bhore Committee report ii. 1952
c. The new National Population Policy came into force iii. 1946
d. The name of ‘Family Planning Dept.” was changed iv. 2000
to ‘Family Welfare Dept.’
a b c d
(1) 1 i1l iv il
(2) 1 iv il 1
3) 1 iii v i
4 1 v i iii
FHeed| TS FRM / SPACE FOR ROUGH WORK P.T.O.
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107. WRAT 2001 S FVHTER I T3 T47d gatd ST @l TSITd Haa st SAThEe
B,
(1) s (2) T
(8) AT (4) e T "
As per Census 2001, Uttar Pradesh State has the highest while State has h
lowest population in India.
(1) Manipur (2) Sikkim
(3) Nagaland (4) None of the above

108. Wreftadshl HIVET ITHEAH Aha@Et fferrs miedt Mt Heft sy 7
A. SRIVAT 3TEaT
B. Sfiaa fowres qecarean gei=h vl ugd

C. TS T waeqor

D. 37U YehreH

(1) e A, B amfor ¢ (2) w& B, C3nforD
(3) w& A, B 3nfor D (4) o« gd

From which of the following sources the secondary population information is
collected ?

A. Census report

B. Registrations of vital life related incidents

C. National sample survey

D. International publications

(1) Only A, Band C (2) OnlyB,CandD

(3) Only A,Band D (4) All of the above

109. 2011 =1 STUHIHR TEREe Sieari=n eiea@r=n Saagar HIvar Sedqr HH SOt 38 7
(1) =g - INW - M - dem
(2) =g - ML - WSRI - ATRH
(3) Eq - WSWI - «1f¥m - widen
(4) FEE - MR - TRW - Hew
As per 2011 Census which ascending order of districts of Maharashtra is correct
in respect to population density ?
(1) Chandrapur —-Washim — Gondia — Bhandara
(2) Chandrapur — Gondia — Bhandara — Washim
(3) Chandrapur — Bhandara — Washim — Gondia
(4) Chandrapur — Gondia — Washim — Bhandara

HESHT HTHTETS AR / SPACE FOR ROUGH WORK

A
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110. WERISIEIE Eeli SHTUAT aUe) Aehaeis gufich a1g F SAoMT a1 Jreat A St Sl

SO =Y FETYE ag
a. 1971 i. 27.45
b. 1981 i. 24.54
c. 1991 m. 25.73
d. 2001 iv. 22.73
a b c d
(1) 1 il 111 v
2) 1 i v 111
(3) i1 v 1 i1
(4 iv i i i

Match the correct pairs of Census year and population decadal growth in Maharashtra.

Census Year Decadal Growth
a. 1971 i. 27.45
b. 1981 . 24.54
c. 1991 ni.  25.73
d. 2001 iv. 22.73
a b c d
1 i il iii iv
(2) i i iv 1il
(3) i iv i ii
4) iv iii il i

111. <€ feharen 300000 fr.HfY. fhar 186000 At I wam o= faga gohr Ageeian
e YSSWRTIIR Scafod 0T 3Smaen 379 FEUrand.
(1) RSt (2) HR dEs (3) Jwur (4) TEdA
The radiant energy received from the sun transmitted in the form of electromagnetic

waves and travelling at the rate of 300000 km or 186000 miles per second is called

(1) Insolation (2) Sun flare (83) Transmission (4) Reflection

FHeeAl HHMEE AR / SPACE FOR ROUGH WORK P.T.O.

A
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112.. i I W U e SFfeturet ST TRRIse ™ B YR feoiel aTRd 9 @y [1 99
Foregrm= e feoet amRa. e Jear snfor 9w qafa freer.

wWH [ (T TER) w11 (fFeR)
a. Am i. 3TEHGTR, 43, AT, HAT
b. Bsh i, wewfor, srredt, anfim, fmeht
c. Aw il TS, TR, faygt

a b c
1) 1 11 111
(2) 1 1 11

3) 1u 1 i1l

4 i 1il i

In Column I climatic types of Maharashtra based on Koppen’s classification are
given and in Column II group of districts are shown. Match the following and

choose the correct option.

Column I (Climatic types) Column II (Districts)
a. Am 1. Ahmadnagar, Dhule, Jalgaoh, Solapur
b. Bsh ii. Parbhani, Amaravati, Washim, Hingoli
c. Aw : 11. Raigad, Ratnagiri, Sindhudurg
a b c
(1 i i 111

(2) i i 11
3 1 1 1ii

@ i i i

el HIHTHETS! SR / SPACE FOR ROUGH WORK

A
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113.' YSTaEd dd wedien gR IcaeiA BT IS T T SO e A S S,

(1)
2)
3
4

Featsia ool I

gedfiola digg 7 AU

YIHSH ARSI

HIEaATER Icasi
it foRaa SoasiA
a b c d

i i i v
i iv it i
i1l 1 iv il

iv i 1 1

THIOT (%)
1. 49%
. 23%
i, 19%
iv. 09%

Match the correct pairs of radiant energy from earth surface in the form of long

waves and its percentage.

Radiant energy

Percentage (%)

a. Unreached to the earth 1. 49%
b. From land surface return to atmosphere 1. 23%
c. Radiated by condensation . 19%
d. Radiated by convention iv. 09%
a b c d
1 1 i iii v
2 1 iv 1 il
(3) 11 i iv il
(4) iv 111 i i
TS HTETS! AT / SPACE FOR ROUGH WORK P.T.O.
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114.

LG
i.
ii.
iii.
1v.
(1)
(3)

52 K18

faamren fomm w0 9 T 9w faEn

UGS S S0 39 W4 aF a9 dI98H S w8 S,

SfITER AT HHt v Grem JE gt 160 Hiet deften 1° A3, 1.
AT IgTeATd A9H 8¢ € 160 Het I 1° 3.3, Yaqm i 3r5a.
USRI fEaTesara ar|M o2 et 160 Hiet e 1° 9.3, Y& S 31Ea.
iii 31T iv SR 3R (2) 1, ii 30for iii SO FRA

i 37Tfor i ST 3R (4) o gd s 3R

Consider the following statements and choose correct option.

1.
11.
111.

As you go higher in the troposphere the temperature decreases.

The normal rate of decrease in temperature is 1°C for every 160 meters of height.
In troposphere the temperature in summer is less than 1°C at every

160 meters height.

iv. In troposphere the temperature in winter is more than 1°C for every
160 meters height.
(1) 1ii and iv are correct (2) 1,11 and iii are correct
(3) 1and ii are correct (4) All of the above are correct
115. SIS @
et - 1 g - 11
i, ARIgSH a. iSa IR TUE Yeerd
i, AffeasH b. Yt qTEA SR YU ST
ST FTATSRvTT IS0y
iii, HlET-SH-ITFETES c. THmEH® geea wrEn fspamsfier
iv. 3TTH d. TEmf geean fhamsfier
i ii iii iv
(1) ¢ d b a
2 d c a b
3) a b c d
4) ¢ a d b
Match the following.
List -1 ' List — IT
1. Nitrogen a. Popularly known as noble gas
ii.  Oxygen b. Absorption of heat emission from
the earth into the atmosphere
iii.  Carbon-di-oxide c. Chemically not very active
iv. Argon d. Chemically active
i ii iii iv
1) ¢ d b a
2 d c a b
3) a b c d
4) c a d b
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116.

fore b uiaeTeT ShIvTe TEeeiT= ST S e A=A Hieh fHeaeh (T <1 = 31r)
FHTger Sl ?

(1) < g fres 2) fewan a fe

@) fEara o (4) oA 9 THY AT

The Normalized Difference Vegetation Index (NDVI) is calculated using which
bands of electromagnetic spectrum ?

(1) Red and blue (2) Green and blue
(3) Green and red (4) Red and near infrared

117.

TUEd 1400 Hex I+t AT TRIM §AE BEMNE 1:7500 = FHNG a1,
FA Hiepet aist 15 WA, IR, TgEIdREE g I fhdl s ?

(1) 8400 #t (2) 3213 #t (3) 2525 Ht (4 11114

An aerial photograph of a terrain having an average elevation of 1400 m is taken
at a scale of 1:7500. The focal length of the camera is 15 cm. The altitude of the

flight above mean sea level is
(1) 8400 m (2) 3213 m (3) 2525 m (4) 1111 m

118.

7N 3.3M.A. a3, e HewTse WU Jiria ufden He IWE Fl, W 26 LW
2016 Tsft geeftea Had |igvara ATl
(1) @I™ 2 e (3) 3I@H (4) 99H
was the first co-satellite under IIT Bombay, student satellite program,
which was ejected into Earth’s orbit on 26" September 2016.

(1) SWAYAM (2) NIUSAT 3) UTTAM (4) PRATHAM

119.

L RUGIGN

(1) rarersit (2) HREH (3) HiTHIEATS (4) TR BT ATE
The spatial relationship between Geographical elements in a data set that do not
change under a continuous transformation is referred as

(1) Topology (2) Cartography (3) Morphology  (4) None of these

120.

T TR FETT, Ferqurrea gead! fagft et smeret fowm srnfya dud ¢

(1) frgee v (2) U vago

(3) Wehel T8 (4) i g&Tu

Which type of projection preserves absolute directions relative to the central point
of projection ?

(1) Azimuthal projection (2) Robinson projection

(3) Mercator projection (4) Conic projection

FHeeA HIFTETS AN / SPACE FOR ROUGH WORK P.T.0.
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Wrefletd<h! v Wifas Tes TREe afas AT sqadd ?
a. FE"SIW

b. 4w

c. TSI (U1HH)

d. dIHHE

(1) a,bamfire (2) b, camfrd
(3) a,camfrd (4) =0 g4

Which of the following are physical components of an ecosystem that constitute

its abiotic structure ?

a. Sunlight

b. Wind

c. Rainfall

d. Temperature
(1) a,bandec (2) b,candd
(3) a,candd (4) All of the above

122.

e a=fime) @refiedeh S ges Turfase 3mRa 7

a. I fehar wfewm, fafertor anfor smarao

b. @emeft Farg I Hangr Fel gfed ww

c. TEROT, YreaeRol, wishan, 3ref erren arfor faveiyor s

d. 3IvFSH
(1) a,bamfre (2) a,ca3mfrd
(3) a,barfird 4) ol gd

Which of the following elements are involved in remote sensing ?
a. Energy source or illumination, radiation and atmosphere
b. Interaction with target and recording energy by the sensor
c. Transmission, reception, processing, interpretation and analysis
d. Application
(1) a,bandc (2) a,candd
(3) a,bandd (4) All of the above
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123. Wrelieeh v gada stavmer=h Afqs o= TEda ?
a. gotare fafawar ammeft o=,
b. vafeRefi AT aTEe 3.
c. TAIHEEAT 0T YTl Fehiell A5 B9 9T8e 3R,
d. Safafquden s 9o 38,
(1) e a AT b (2) e b A ¢
(3) e c 3T d - (4) e b 30T d

Which of the following are not ethical principles of conservation biology ?
a. The diversity of organisms is good.
b. The ecological complexity is not good.
c. The untimely extinction of populations and species is bad.
d. The biological diversity has extrinsic value.
(1) Onlyaandb (2) Onlybandc
(3) Onlycandd (4) Onlybandd

124, <Tees qoaH 9l 98 gRdE aRE IS Fe A ol
a. HEA-SA- RS
b, faem

c. TR
d. THEE INETES
(1) a,b,c,d (2) b,c,d,a
3) c¢,d,b,a (4) d,c,b,a
Arrange the contribution of greenhouse gases to global warming in ascending order.
a. Carbon-di-oxide
b. Methane
c. Chlorofluorocarbons

d. Nitrous oxide

(1) a,b,c,d (2) b,c,d,a
(3) c,d,b,a (4) d,c,b,a
FHeeHl HHEES! AR / SPACE FOR ROUGH WORK P.T.O.
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125.. Greflerdehl HIordl foum Hivreel ahEeeme grevamETdt Setan f&g aHe Saa ¢
a. TRY AT FHeges Ieareq.
b. ICATGHIHZA BV FHoral aTH,
C
d

T WEATT ot T Ffesar (37qe) 3nfor o aneqara A sefema

. YaEATGER Sl fHeafamt,
(1) % a 30T b (2) e ¢ 3T d
(3) e a 3fUT ¢ (4) e b 3foT d

Which of the following statements are considered as energetics points to understand
in any ecosystem ?

a. The gross and net production.
b. The use of energy by producers.
c. The total input of energy in the form of food and its efficiency of

assimilation.
d. The gain of energy through respiration.
(1) Onlyaandb (2) Onlycandd
(3) Onlyaandc (4) Onlybandd

126, S YU Tehett SITATd RO :
a. T megET S st Féis seevamET.
b. i smEger=h SucTstan arefavamaTd).
c. SifufER wifaes feudt gumuamaTdt.
(1) & a (2) Wb 3) =l ud (4) FAhH AT
Soil amendments are applied to soil for
a. Changing soil pH to suit crop needs.
b. Increase plant nutrient availability.

c¢. Improving physical condition of soil.
(1) Onlya (2) Onlyb (3) All of these (4) None of these

127. W StHrE uedr fedt ared ?

(1) 2.60d 2.75 mg/m3 (2) 2.60 2.75 g/cm3
(3) 1.10d 1.60 g/cm3 (4) 0.390.6 g/cm3
Bulk density of soil ranges from

(1) 2.60 to 2.75 mg/m? (2) 2.60 to 2.75 g/cm3
(3) 1.10 to 1.60 g/cm3 (4) 0.3t00.6 g/cm3
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128, GTEEgEd ST Wichicih! HiveT G&H STAGeATe Iucieerdl HHl 8 7

(1) @ (HIW) 2) v (feh)

(3) wiferee ™ (4) «RH

Which of the following micronutrient availability decreases in calcareous soils ?
(1) Copper (Cu) (2) Zinc (Zn)

(3) Molybdenum (Mo) (4) Boron (B)

129. Grefte faemmEn faam .

faum 1 : wifefem 3 smuifas dRfen sy o Jegarsren fauer gewnfl .

faem 11 : sfreg 3nfon wEmiam sfiam] uiefiierdes fagen it smrd i,

(1) faum It a1, I e 38

) foum Ister 3R, [1ghe 3

(3) o faum e amEa

(4) S e gebreft s

Consider the following statements :

Statement I: Clostridium is anaerobic bacteria involved in decomposition of
cellulose.

Statement II : Polypeptides are broken down into amino acids by Bacillus and

Pseudomonas bacteria.
(1) Statement II is correct, I is incorrect
(2) Statement I is correct, II is incorrect
(3) Both statements are correct
(4) Both statements are incorrect

130. Sifta ol GrereATge SEEAdiET §S GEied SR ST 2 yHTOT HH BId 9 fawrd

vered siftrfta g,
(1) s (2) SmoTETY
(3) wroft (4) Tt AT
Water logging causes injury to the plant due to low content and accumulation
of toxic substances in the soil.
(1) Carbon (2) Oxygen
(3) Water (4) None of the above
THeed HMHIS SR / SPACE FOR ROUGH WORK P.T.O.
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131. WRATdIS Hare ToedTehyuT €07 HIv[d 378 7

(1) R AT (2) sfeu meft
(3) =i (4) feuge
Which is the highest gravity dam in India ?
(1) Bhakra Nangal (2) Indira Gandhi
(3) Kosi (4) Hirakud
132. @refia faue fomamra =,

R 1 : wa fiss 2 uiye SfeHiendt wata s gfediues @1,

R IT : sl de ITeenatda TIvee Shd ddedsiiel (Sel 9gum) 3R,
(1) faum 11 str 3R, 1 3hie am

(2) faum Ister o2, 11 g 3R

(3) Tl faum sU=T ed

(4) ol faum gh=h ImRa

Consider the following statements.

Statement I : The most resistant crop for water-logging is rice.
Statement II : Pearlmillet is susceptible to waterlogging during seedling stage.

(1)
(2)
(3)
(4)

Statement II is correct, I is incorrect
Statement I is correct, IT is incorrect
Both statements are correct

Both statements are incorrect

133.

WA I T T SR Fefed R ?

a.
b.
c.

S AT arffetomer 3mentid SifEn |,
qTUTEle. &St A ek gerdteT e g,

d. #wma (Fem) s udte Sfifen gufta am.
(1) e a, b 3mfor ¢ (2) W b, ¢ 3T d
(3) o0« @d a, b, ¢ 31T d (4) % a, b 3T d

Which of the following principles are correct related to watershed management ?

a.
b.
C.
d

(1)
3)

Land utilization according to its capacity based on land use classification.
Identifying a suitable cropping pattern for the watershed area.
Maximizing productivity per unit area, per unit time and per unit water.
Safe utilization of marginal (small) and waste lands.

Only a, band ¢ (2) Onlyb, candd
Alla,b,candd (4) Onlya,bandd
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134, TTOAHLT STSTCHSMIGR BIVT=AT 9T0AT= <gTE il hudmand! aroRudTd o= gty

L UGIGN
(1) e U9k (2) I ITVIEA
(3) sToIcEeH fAiees (4) e Haitges (Frames)
Any material applied to transpiring plant surface for reducing water losses from
the plant is called as
(1) Growth retardants (2) Vertical mulches
(3) Antitranspirants (4) Growth regulators

135. Wreflerdehl hivid Teeh dles, TiFer T Faehomrdi= o v Hoamd! fbe e (vera)

TEU[A M HATd ?

a. hHIAESA ol

b. 3R FRGEETES.

c. sieafufm argwEe

d. Hs uere.
(1) Fasas3nfrb (2) FaSsb3fic (3) FaScard (4) O &d
Which of the following components act as a cementing agent for binding sand, silt
and clay particles to form soil aggregates ?

a. Colloidal clay.

b. Iron hydroxide.

c¢. Alluminium hydroxide.

d. Organic matter.
(1) Onlyaandb (2) Onlybandc (3) Onlycandd (4) Allof the above

136. ST SFf (amearen fadmft) et Safafauar gt e . 7 A,
mejaa%]ﬁ

S b

IEEILEEED

TS AR

(1) a3mMrbwad (2) bamficwrm (3) caMrdwed  (4) a 301 d we

Examples of in-situ (within habitat) conservation of biodiversity are
a. National parks
b. Gene bank
c. Seed bank
d. Wildlife sanctuaries

(1) aandbonly (2) bandconly (3) canddonly (4) aanddonly

pooP
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& g SEfaTh T AR i WL Feig I fsia gedtan awmem
3THA d UehHehT=AT UIEEieR GiuTH drd STer smaen gedfiaaradier e stfereren et
AT 3R

(1) vfas= (2) ufeEeRn

(3) Tdsh (4) "SR -qATEeT JuTTet!

is the basic functional unit which includes both organisms and
non-living environment, each influencing properties of the other and both are
necessary for maintenance of life on the earth.

(1) Geology (2) Ecosystem

(3) Hydrological cycle (4) Socio — eco system

138.

(1) AU (2) <HEE 916
(3) HTUATE IuTTSHAT (4) forega wradt
and the resulting shortage of resources most severely affect people
in the developing Countries.
(1) Food grains (2) Population growth
(3) Water availability (4) Electric power

139.

&1 St 3T woft e Sdten (Ysft-wgEren) WIS T IR,
(1) worErRy (2) =aTY

(3) RIS o1 (4) Hled

is a building block of plant and animal tissues.

(1) Oxygen (Oy) (2) Nitrogen (N,)

(3) Hydrogen (H,) (4) Carbon

140.

@reficdehl I Toi- TS gt 3Tmad ?
a. e 9t fhar @reft T e STeeRme e .
b. WIS A W, eI, Weeh fhal 9 SUT STE.
c. el TAHIT HEA.
(1) asMicwad (2) asnfib®ad (3) bamPrcwwm (4) =fia wd
Which of the following are rain water harvesting methods ?
a. By storing in tanks or reservoirs above or below ground.
b. By constructing pits, lagoons, trench or check dams on small rivulets.
¢. By recharging the groundwater.

(1) aandconly (2) aandbonly (3) bandconly (4) Allofthe above
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141. @refiedsht e dgel gr vl sfrh gu fefa R wh ws sewaa ¢
a. ST resTed fohan fushren smaemTag SfiHien qsewrme geaor .
b. ST TSHTTER e UHEd S0 /|10 @ehesyd Jeul,
c. ST T FHHI HOATHEIS AT T3UTT Weada Ho.
d. = wfetgeEh ffifd s
(1) aanmrdwa (2) baficwm (3) adMfic®ad (4) @da,b,canfrd

Which of the following methods can control or reduce soil erosion by wind ?
a. Protection of soil surface with vegetative cover or crop residue.
b. Bringing soil aggregates to the surface soil.
c. By making surface roughness for reduction of wind velocity.
d. Establishment of wind breaks.
(1) aanddonly (2) bandconly (3) aandconly (4) Alla,b,candd

142. Wiefiedsht Sior fem )/ faum st 3mg/smea ?

a. IIESIIET TIR Seied FfH gig= T rard.
b. Al qrEErE e i N SiefufEm A ymr St geevrTe it s,
c. HH TraETSAT YCTA S FrITET Hed TSSWRTER 7.

(1) % a3mrb (2) e b 3o

(3) had a M ¢ (4) @da,bafre

Which of the following statement/statements is/are correct ?
a. Lime stone/calcite develops into white coloured soils.
b. In high rainfall areas iron and aluminium concentrate at the surface of soil.

c. Shallow accumulation of lime in soil of low rainfall areas.
(1) Onlyaandb (2) Onlybandec

(3) Onlyaandc (4) Alla,bandc
143. Grefladehl ST WA T3 TH0T (Coh ) S 319 ?
(1) 3fen (2) IFTEREgE IR
(3) IR wiTHe (4) SE-IHIfREm Bk
Which of the following fertilizer contains high percentage of nitrogen ?
(1) Urea (2) Anhydrous ammonia
(3) Ammonium phosphate (4) Di-ammonium phosphate
FHeed! HHMTS! SR / SPACE FOR ROUGH WORK P.T.O.



@ : 62 K18

144. THMANS Garel goqd T4 @ 31 BREER Jed SR
a. Aftreh AINshged a9 HrRiETAr
b. TEES Gare demd HH TS
c. I @ UATEoT qYeh TR
d. Tk IcaTEATa GUHon /9@
(1) e a (2) b
(3) e a, b 3MMTc (4) @ a,b,card
Nanofertilizers are more beneficial as compared to chemical fertilizers due to
a. Higher nutrient use efficiency.
b. Less requirement as compared to chemical fertilizers.
c. Nanofertilizers are ecofriendly.
d. Improvement in the crop yield.

(1) Onlya (2) Onlyb

(3) Onlya,bandc (4) Alla,b,candd
145,  3TOTeAT STSTaEAE JET= Tafarv] 76 AT g 3T A1 JHSra & g
313@3:1%.
(1) fg Ieft wgedt (2) 3 Il
(3) meEd It (4) fo<fa ot

approach is based on the perception that tomorrow’s ecology is more
important than today’s economy.
(1) Organic farming system (2) Precision farming
(3) Sustainable agriculture (4) Irrigated farming

146. 0T TehreeaT SIHTETE qur fiemmen ar st A ¢
a. 3US MM IAR FAAT AU

b. aTHTE ST

c. HH! 3Nerar s avm=n S,

(1) ed a 3T b (2) e b A ¢
(3) e a 3MMUT ¢ (4) =0« wd

Sprinkler irrigation is used for which type of soils ?

a. Shallow and sloping soils.

b. Sandy soils.

c. Low moisture retentive soils.
(1) Onlyaandb (2) Onlybandc
(3) Onlyaandc (4) All of the above
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147. @refierieh! gy fish Hrermaefime e qrft armm dis sl ?

(1) & (2) 3T

(3) 3eRTedt (4) IR gE

Out of following crops which crop requires higher water during its life cycle ?
(1) Wheat (2) Chickpea

(3) Summer greengram (4) Summer groundnut

148. ‘qﬁﬁmwmm ?
. wrEdiue sH gree 3 Jafites /gefacean aoff Same s g,

b. gadiar St smgar anfor 3w wRE 9w,
forepTean TrTer ATl UTEA veEdT BISRia ST QT TR srTfevare i
I AT 30T 3T ITH4.
(1) a % (2) b % (3) ¢ e (4) a 37T b e
When does agricultural drought occur ?

a. Below average rainfall and low water content in natural/stored water sources.
b. Low air humidity and hot dry winds.

c. Soil moisture and rainfall are inadequate to meet the water requirement of
crop for healthy growth to maturity.

(1) aonly (2) bonly (3) conly (4) aandbonly
Y
149. Eu = T AGR HTEal Id.
(1) ot SSavh HrEiawa (2) ek roft ST Hrtemar
(3) uroft 20 sHrfeman (4) T uoft ST SHrEieTar
o
can be determined by Eu = WR
(1) Water storage efficiency (2) Crop water use efficiency
(3) Water application efficiency (4) Field water use efficiency

150. U serei-ddifier urfi rgurs fomedt qmofi ¢

(1) 1,000 ferex (2) 1,00,000 ferex
(8) 10,000 ferex (4) 10,00,000 ferex
One hectare-centimetre (1ha cm) water means
(1) 1,000 litres (2) 1,00,000 litres
(3) 10,000 litres (4) 10,00,000 litres
THeedl HIHMETS SR / SPACE FOR ROUGH WORK P.T.O.
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(8 vEgfErrae) fafaa Fere fafire Srfra F=2 %M (16 a%) FUd. TAgReaheaaiea Jaabehat a1
T FACAT Fod HIH Hhedld o Hidl HOATEAT ILAH het 3R, 3 THA T 9 ATTAR IHGARTE
TEA ST Shetedn *Theme A= Ry Siday svamEmEas sifufrem-g2”" Irdie dgaidan
FHHETE AT AsA 9 2I¥) el HHTT Ueh FUTAT HIROETAT 31107/ fha T92 U g9IR ThA=A1 S8T=AT
frag = Bde.

(9) HE THURHETE! TR fifda Fetell 3o Huedal IR & TegfGTeh! T :siat Tien Heraret

U FUITE WA 3772, W THEAT HETETE S0aTge] IHEaRIA ATIed STATE Wil-1 THAeThThS
7 foraran wa ot srrava IR,

HTRA
9. %. 201. Gl = T8 OIS Hivft gerd: T el ?
(1) Tt gaHg weEdt (2) dvarEg foramarR
(3) T THHEA U (4) TITEHST g
IR A I (3) TS T W I 3R, WS A1 WeA 39 (3)”
BISel. ITEdd GIASA F9 . 201 S Iw-AT ‘(B) 2 ade gl
BT e SRAfT AT 3R,

%21 @O @ @ ©®
I TgdA Tgd TeYf&Tehdlel Joieh ST qHET ST-SRHTH 81 GReTell Saaiie

qUfreien STfEhaiiel ™ ™ Y -ShHIHENRE Haid agqe quril Srifhd HE
TRESTET. BRI T SHTedT ITTE= Aieta aradrd, UfRre o vIE= e 9 4.
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